
Automatic Gun Information

FP Series Automatic Gun

BRN

GRN

BLK

BLK

BLU

BLU

GRN

BLU

BLU

BRN

WHT

Trigger

Trigger

Trigger

Trigger

Neutral

BRN

BRN

Heater

Heater

2

13

12

14

1

9

7

8

10

11

15

16

4

120 VAC

1

4

7

3

6

9

3

4

1
Ground

RTD

RTD

5

6

7

8

9

2

220 VAC

1

4

7

3

6

9

3

4

1
Ground

RTD

RTD

5

6

7

8

9

2

Power

Power

- - - - 

- - - - 

- - - - 

- - - - 

4

5

3

Heater

RTD

6

Power

FP2-600-R-1, 120 VAC
FP2-600-R-2, 220 VAC

©2015 Hot Melt Technologies, Inc

BILL OF MATERIALS

ITEM DESCRIPTION PART NO QTY

1 JIC Swivel Assembly 912-546 1

2 Manifold Block 130-031 1

3 Socket Head Cap Screw 10-32  1" 322-060 2               

4 1/16" NPT Pipe Plug 160-196 2

5 Socket Head Cap Screw 8-32  1/4" 322-029 3

6 Socket Head Cap Screw 6-32  1/4" 322-002 1

7a Heater Harness 120 VAC, 150 W 913-047 1

7b Heater Harness 220 VAC, 150 W 913-247 1

8 Flat Panel Gun Bracket 130-085 1

9 7/8" Plug, Straight Thread 160-201 1

10 Actuator Lever (inside handle) 211-074 1

11 Switch (inside handle) 211-073 1

12 Handle 130-095 1

13 Trigger 130-082 1

14 Flat Panel Mount, Straight 130-083 1

15 Insulating Washer 540-013 4

16 1/4-20 X 1 1/4" Cap Screw 322-106 2

17 Precision Washer (not shown) 130-039 2


